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Search Information

RA

o000 = 19:34:36.6293

Best Fit Parameters
Reduced x? = 3.676
D|sperS|on Measure (DM) =

= 6.4e—05 topo (ms) = 358.7050(84)
= 2115584 topo (s/s) = 2.8(4. 8)x10~7
= 2.544e+04 P opo (s/s?) = 0.0(2.3)x1078
= 289 Binary Parameters
= 100 P, (s) = N/A
= 5.373e+08 a,sin(i)/c (s) = N/A
= 4.203e+04 Tperi = N/A
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P(Noise) < 5.92e—32
163.31 2

DEC = 16:40:07.1101

J2000

(~11.70)

bqry (ms) = 358.7318(84)

bmy (s/s) 2.8(4.8)x107’ s
P bary (s/s?) = 0.0(2.3)x10~

e = N/A

w (rad) = N/A
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Period — 358.52450302 (ms)
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